Oi&H:202259RH17HIER OA% FE46[E—J 8
O &BAEEFZ] 13:30 O=H Rt LEABEKEKIS
ORAKTHL 1555 OXiz:ZY
F—Ls (B8 1Q 2Q 3Q 4Q TOTAL B &
BRAKXFENK)| 14 17 0 7 38 108K
RIGKZ(N) 0 0 0 6 6 Of%18x
TFREB
F—L Q B PLAY PLAYER(S) ¥Y—K TFP PLAYER(S) G/NG
BEARAKZE | 1| 2:44 |PASS | #2% A ~#494] 5 5 K | #5118k G
BEAKZE 1] 2:04 | INT | #0OR L 59 K | #511&7k G
BEAKZE | 2| 8:56 FG | #5118 9
BEARKZE | 2] 6:11 |PASS | #2% A —#49¢TE 14 K | #511&7k G
BEAK®E | 2] 5:07 |PASS |#2%A-#11FK 3 K | #5111k G
BEARAKZ | 4| 7:14 |RUSH | #2433 % 8 K | #5118 G
RIBFE K% | 4| 5:24 |PASS | #2310 25 K |#2I0 NG
F— L % REAKZE RIGEKF
1.97—RME OV B (T — /"X —Al) 7(4—3—0) 3(1—1—1)
2.8 AE-—BY—WA25—tTh 27-8—1 22—-5-5
gEv—r | eves | 33vds
3T B#H—-ERFIVY—F 24—87Yds 12—6Yds
4RE E#%-—EEV—F 51—150Yds 34—239Yds
5.5 8l =% — SR v —F 4—20Yds 4—20Yds
6.77>7IL E % — K 1—1 4—1
7.74—LEd—)L B % — B2 1—1 0—0

M FETA) 7y R—)L 2 8



PASS 27—8—1-63
Sl AT i BXZh —F [ TD | INT

2[EaEL N 25 63 3[ 1

12| & )1F & 2 0 0 0
RUSH 24-87 INTERCEPTION 5-140
2[4 E#% | v—F] 1D &2 [am E#% | v—F ] 1D
13 i) FH S L 8 62 0 51 {EBESR AR 1 12 0
2 EEBEZ 4/ —12 0 11 FERAN 1 32 0
25 e 1| -5 0 2 [mawon 1 27| 0
24 REPHE S 9 52 1 0 WILRI 1 59 1
12 | #FEE 1l —10 0 74| e 1 10 o
16 H B 1 0 0

QB SACK
RECEIVE 8-63 el AT [l v—F
&2 4 E#% | ¥—F] 71D 49 ST 1 8
49 FAN=YS 3 20 2
11 | FEEg 2 6 1
25 H R 3 37 0
Rig| ko

PASS 22—5—5-33
el AT i BXZh —F [ TD | INT

18| ZHFSE 18 30 1 5

29| EBIIKE 4 3 0 0
RUSH 12=6 INTERCEPTION #Hi#
&2 [28 E#% | v—F] 1D &2 [am E#% | v—F ] TD
29 =N 8 21 27 | T ERKER 1 7 0
18 Z S 4 —15
RECEIVE 5-33 QB SACK
&2 28 E#% | v—F] 71D &2 [am % [ v—F
27 | T ERARS 1 0 66 | BEHE 1 10
18 Z S 1 0
5| EEAE 1 0
2 STHREER 2 25 1




